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MATHS

BOOKS - NDA PREVIOUS YEARS

CIRCLE

1. An equilateral triangle is inscribed in the circle

x? + y2 = a2 with one of the vertices at (a,0). What

is the equation of the side opposite to this vertex ?



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_EaIDkikhFMBb

A2t —a =0

Bz +a=0

C.2xr+a =20

D.3x — 2a =0

Answer: C

o Watch Video Solution

2. If a circle passes through the points (0,0),

(a,0)and(0,b), then find the coordinates of its centre.

A. \/&2 — b


https://dl.doubtnut.com/l/_EaIDkikhFMBb
https://dl.doubtnut.com/l/_CkQzJwGbrk8j

B.\/a’ + b’
1 —
C. E\/CL2 -+ b2

D.2+/a? + b

Answer: C

o Watch Video Solution

3. it two circles, A, B of equal radii pass through the
centres of each other, then what is the ratio of the
length of the smaller arc to the circumference of

the circle A but off by the circle


https://dl.doubtnut.com/l/_CkQzJwGbrk8j
https://dl.doubtnut.com/l/_wMVBKtRx47u0

Wl W= = e

Answer: C

o Watch Video Solution

4. If the extremities of a diameter of a circle are
(0, 0) and (a3, 1/a’)then the circle passes through

which one of the following points ?


https://dl.doubtnut.com/l/_wMVBKtRx47u0
https://dl.doubtnut.com/l/_YZLcTVpOrssE

D.(1/a,a)

Answer: D

o Watch Video Solution

5. What is the length of the intercept made on the
x-axis by the circle % + v + 29z + 2fy +c=07?

(g% — ¢

A.
2



https://dl.doubtnut.com/l/_YZLcTVpOrssE
https://dl.doubtnut.com/l/_opxxT9duh1ei

Answer: D

° Watch Video Solution

6. Under which one of the following conditions does
the circle % + y* + 29z + 2fy + ¢ = 0 meet the x-

axis in two points on opposite sides of the origin?

Ac>0


https://dl.doubtnut.com/l/_opxxT9duh1ei
https://dl.doubtnut.com/l/_R0Y3lzaiMZ8x

Answer: B

o Watch Video Solution

7.What is the equation of a circle whose center lies
on the x-axis at a distance h from the origin and the

circle passes through the origin ?

A z? 4y — 2hz =0


https://dl.doubtnut.com/l/_R0Y3lzaiMZ8x
https://dl.doubtnut.com/l/_2tcrvfBvIoyY

B.z? + y*> — 2ha + h% = 0
Cz?+y® +2hzy=0

D.z’+y* —h*=0

Answer: A

o Watch Video Solution

8. Consider a circle of radius R. What is the lengths

of a chord which subtends an angle 0 at the centre

?

A. 2R si 0
-2Rsin|


https://dl.doubtnut.com/l/_2tcrvfBvIoyY
https://dl.doubtnut.com/l/_asbHyYWrJZwJ

B.2R sin®

C.2Rt 6
. an| -

D.2Rtan®

Answer: A

o Watch Video Solution

9. What is the equation of circle which touches the

linesz =0,y=0andz = 27

Azi+y +22+2r+1=0

Bzl +y? —4dz —4y+1=0


https://dl.doubtnut.com/l/_asbHyYWrJZwJ
https://dl.doubtnut.com/l/_XKoODFqIxR1a

C.w2+y2—2x—2y—i—1:0

D. None of these

Answer: C

° Watch Video Solution

10. Equation of a circle passing through origin is
z? + y®> — 6z + 2y = 0. What is the equation of
one of its diameter ?

Az+3y=20

B.zx +y=0


https://dl.doubtnut.com/l/_XKoODFqIxR1a
https://dl.doubtnut.com/l/_esFigq31P0LE

Answer: A

o Watch Video Solution

1. Point (1,2) relative to the
z? + y® + 4z — 2y — 4 = Ois a/an
A. exterior point

B. interior point, but not centre

C. boundary point

circle



https://dl.doubtnut.com/l/_esFigq31P0LE
https://dl.doubtnut.com/l/_REZJjDcBAPBB

D. centre

Answer: A

° Watch Video Solution

12. If the circle
z? +y* + 29z + 2fy + = 0(c > 0) touches the

y-axis then which one of the following is correct ?

A.g= — ,/conly
B.g = X .,/c

C.f = y/conly


https://dl.doubtnut.com/l/_REZJjDcBAPBB
https://dl.doubtnut.com/l/_GlN3Zovu5US5

D.f= +./c

Answer: D

° Watch Video Solution

13. The equation of the circle which touches the
axes at a distances 5 from the origin is
v + 22— 20z —20y+a’=0

What is the value of o ?

A 4

B.5


https://dl.doubtnut.com/l/_GlN3Zovu5US5
https://dl.doubtnut.com/l/_9ritrzqUSQgV

C.6

D.7

Answer: B

o Watch Video Solution

14. AB is an equilateral triangle inscribed in a circle
of centre O and radius 5cm. Let the diameter
through C meet the circle again at D.
Assertion (A): AD. BD < OB. OC

Reason (R): 2(AD? + BD?) = CD* = 100sgem


https://dl.doubtnut.com/l/_9ritrzqUSQgV
https://dl.doubtnut.com/l/_9CjDGc46di76

A.Both A and R are individually true and R is the

correct explanation of A

B. Both A and R are individually true but R is not

the correct explanation of A

C.Ais true but R is false

D. Ais false but R is true

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_9CjDGc46di76

15. If x-axis is tangent to the «circle
z? + y® 4+ 29z + fy+ k = 0. Then which one of

the following is correct ?

Ag?=k
B.g° = f
C.f2=k
D.f°=g
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_si7SOJofQmth

16. The circle z? + y? + 4z — 4y — 4 = 0 touches

A. Only the x-axis
B. Only the y-axis
C. Both the axes

D. Neither of the axes

Answer: C

° Watch Video Solution

17. Consider the following statement in respect of

circles z® + y? — 2z — 2y =0and z® + ¢y* =1


https://dl.doubtnut.com/l/_8KAC6Xr3gZMy
https://dl.doubtnut.com/l/_QXcWAJkD9bLC

1. The radius of the first circle is twice that of the
second circle.
2. Both the circles pass through the origin.

Which of the statements given above is/are correct

?

A.1only

B.2 only

C.Both 1and 2

D. Neither 1 nor 2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_QXcWAJkD9bLC

18. What is the equation to circle which touchs both

the axes and has centreon thelinexz +y =47
Az +y? —de+4y+4=0
B.x?+y? —dzx —4y+4=0
Ca’l+y’+4de—4y—4=0

D.a’+y’ +4z +4y—4=0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_4zgTke0WDYO6

19. For the equation
az® + by + 2hzy + 29z + 2fy +c =0 where
a #* 0,to represent a circle, the condition will be
Ah=ga=0»
Bh=g= f,a=05>
Ch=0,a=05b

D.Ah=0,¢g°+f> —c=a+b

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_72j8dy0Y8qQC

20. For the equation
az’ + by + 2hzy + 29z + 2fy +c =0 where
a #* 0,to represent a circle, the condition will be
Aa=bandc=0
B.f=gandh =0
C.a=bandh =0

D.f=gandc=0

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_5s3DdDLd4net

21. What is the radius of the circle touching x-axis at
(3, 0) and y-axis at (0, 3) ?

A. 3 units

B. 4 units

C. 5 units

D. 6 units

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_dJFj7zzDdEbc

22. Which one of the following points lies inside a

circle of radius 6 and centre at (3, 5) ?

A(—2 —1)
B. (0, 1)
C ( o 17 _ 2)
D.(2, — 1)
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7rUWGgOXhh5e

23. The radius of the circle 22 +y> +z +¢c=0

passing through the origin is

>
(NN I NG

D. 2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ixnh82cLI3LB

24. What is the distance between the centres of the

two circles ?
A. +/ a’ + b
B.a? + b?
C.a+b

D.2(a + b)

Answer: A

o Watch Video Solution

25. The two circles touch each other if


https://dl.doubtnut.com/l/_Mh0PJmL2D8ax
https://dl.doubtnut.com/l/_tQgA7dFmrfpm

5 1 B 1 N 1

‘¢ g2 b2

B 1 1

C.C—;‘l‘ﬁ

5 1

.C =

a? + b?
Answer: B

o Watch Video Solution

26. A straight line * = y + 2 touches the circle

4(:1;2 + y2) — r2 , The value of r is:

A /2


https://dl.doubtnut.com/l/_tQgA7dFmrfpm
https://dl.doubtnut.com/l/_WiTeoqGiQkAG

B. 24/2

C.2

D.1

Answer: B

o Watch Video Solution

27. If the centre of the circle passing through the
origin is (3, 4).
then the intercept cut off by the circle on x-axis and

y-axis respectively are


https://dl.doubtnut.com/l/_WiTeoqGiQkAG
https://dl.doubtnut.com/l/_M75KzXoVLCtq

A. 3 unit and 4 unit

B. 6 unit and 4 unit

C.3 unit and 8 unit

D. 6 unit and 8 unit

Answer: D

o Watch Video Solution

28. If a circle of radius b units with centre at (0, b)
touches the line y = £ — /2 , then what is the

value of b ?


https://dl.doubtnut.com/l/_M75KzXoVLCtq
https://dl.doubtnut.com/l/_lob9Jfbbc0W2

A2+ /2
B.2 — /2
C.2¢/2
D. /2

Answer: A

° Watch Video Solution

29. Consider the two
(2= 1%+ (y—3)° =

z? +y -8z +2yy+8=0

circles

and


https://dl.doubtnut.com/l/_lob9Jfbbc0W2
https://dl.doubtnut.com/l/_aV2yo9XtlGYR

What is the distance between the centres of the

two circles ?

A. 5 units

B. 6 units

C. 8 units

D. 10 units

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_aV2yo9XtlGYR

30. If two circles (z —1)° + (y — 3)°> = r? and

z? +1y* —8x +2y+8=0 intersect

distinct points , then

D.2<r <8

Answer: D

in

two

° Watch Video Solution



https://dl.doubtnut.com/l/_181Np3nOLfP8

31. Consider a circle of passing through the origin
and the points (a, b) and ( — b, — a)
What is the sum of the squares of the intercepts

cut off by the circles on the axes ?

Cx+y=a-+b

D.z —y = a’ — b

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ixCJjwlfBw2Q

32. Consider a circle of passing through the origin
and the points (a, b) and ( — b, — a)
What is the sum of the squares of the intercepts

cut off by the circle on the axes ?

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_QRzfQ5TfancA

33. Find the equation of the circle passing through
the point (2,4) and having its centre at the
intersection of the lines
x—y=4and 2¢ +3y+7=0.

A. 3 unit

B. 5 units

C. 34/3 units

D. 51/2 units

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ZjcljBKt4Hdl

34, The two vcircles z®+y?>=7r? and

z? + y®> — 10z + 16 = 0 intersect at two distinct
points. Then

A2<r<s8

B.r =2o0rr =38

Cr<2

D.r > 2

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_f7ovbXfXIx2L

35. What is the equation of the circle which passes
through the points (3,-2) and (-2, 0) and having its
centre on the line 2x-y-3=0?

Az +y*+32+2=0

Bz’ +y°+3x+12y+2=0

Cz’+y*+2x=0

D.z2 +¢y?> =5

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_HPbt1LkNKTcH

36. The equation the circle which passes through
the points (1, 0), (0, — 6) and (3, 4) is

A 4z? + 4y? + 142z + 4Ty + 140 = 0

B. 4z + 4y? — 142z — 47y + 138 = 0

C.4x? + 4y? — 142z + 47y + 138 = 0

D. 422 + 4y® + 150z — 49y + 138 = 0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_5EywxToRKhxG

37. The equation of a circle whose end the points of

a diameter are (z1, y1) and (zs, o) is

(z—z1)(z—22) + (y— ) (y — 1) = 2° + ¢
2 9
B.(z —z1)" + (y —v1)” = 221
C.x’ +y° + 23125 + 2y = 0

D.(z —z1)(z — =) + (y+y1)(y —y2) =0

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_lACqeaNw0DeW
https://dl.doubtnut.com/l/_9iT56XhwZxK0

38. If y-axis touches the cirle.

z? + y* + gz + fy+ % = 0 then the normal at

this point intersects the circle at the point.

° Watch Video Solution

39. A circle is drawn on the chord of a circle
z? + y* = a? as diameter. The chord lies on the

line x + y = a. What is the equation of the circle ?

g f
A(_E’_E)


https://dl.doubtnut.com/l/_9iT56XhwZxK0
https://dl.doubtnut.com/l/_UrJYnjJdvhWK

D'(_97 _f)

Answer: B

° Watch Video Solution

40. The circle 2 + y? + 4z — Ty + 12 = 0 cuts an
intercept on y-axis equal to

A1l

B.4

C.3

D.7


https://dl.doubtnut.com/l/_UrJYnjJdvhWK
https://dl.doubtnut.com/l/_BCEbTCByG6AY

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_BCEbTCByG6AY

